Ratio to ATLAS

1/0d?/ d N dm™" [1/GeV]

[EEN
o
w

1074

[EEY

0.5

13000 GeV pp tt
HE | T T T Tt TT | T I I T | T T T Tt TT |_ ﬂ
B —3
- M(ttbar) (ATLAS semileptonic ttbar) 413
- b=

m  ATLAS ¥

~ -8~ Pythia 6.428 391 N

-~ Pythia 6.428 393 2

| - Pythia 6.428 394 —5

— - ¥- Pythia 6.428 395 1%

>

B ._ ]
C TR -
. i

LT —

N N 15

‘3, ™

‘Y, <t

'Q» o™

.Q3~ @

I N — O

— Ny M

— Ny —

— e, 1=

B NN 1%

)

B R e

N =

u ©

= =9

)

I

o

| 1O

o e AR

— -2
: !':m:i%iiiiiis_iiiiiz_::' :

o 1

| —0.5
1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 " 1 1 " |
500 1000 1500 2000



	Contents
	Page 1


